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} SECTION 11 (50 MARKS)
| Answer FIVE questions in this section in the spaces provided.

(@ o
@. A cylindrical can of diameter 20 cm and height 60cm is filled with water using a cylindrical jar of

diameter 10 cm and height § cm. How many jarfuls will fill the can?
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(b)Find the the surface area of an isosceles triangular prism of length 25 cm height 4.5 cm and base 6 cm
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@ (a) Find the area of the,sector of a circle of radius 3 cm if the angle subtended at the centre at the centre is

140° (Take pie=22/7) (4mks)
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(b) A minor arc of a circle subtends an angle of 105” at the centre of the circle.If the radius of the circle is
8.4 cm, find the length of the major arc. (3mks)
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(c) Calculate the surface area of a rectangular tank measuring 5.4 cm long,3.6 cm width and 1.8 cm high.
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9. Usearuler and compasses only in this question,

(a) Construct triangle ABC such that AB=6¢m, AC=8.5¢m and <BAC=120" (Imky)
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(b) Draw a circle touching vertices A,B and C and measure its radius (3mks)
(c) Drop a perpendicular from C to meet AB at M. Measure CM. (2mks)
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(d) Find the area of triangle AMC to onc decimal place. (2mks)
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22, A straighy 1 _— , ,
+ A straight line Ly whose equation is 3y~ 2x = -Z meets the x — axis at R

(@) Determine the coordinates of R.
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23. A slaughter house bought a number of sheep at sh. 1,200 each and a number of oxen at sh. 15,000 each

They paid a total amount of shs. 135,000. If they had bought twice as many as many sheep end three
oxen less, they would have saved sh. 15,000

(a) Find the number of each type of animals they bought. (';(_ SLQQ{- 7Y w,j)‘ (6mks)
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(b) The slaughter house sold all the animals at 2 profit of 30% per @ and 35% per oxen
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(4mks)
Buj\ PV\LL
SvaSk) - afxase < 39,90} ,j N

7y WoR = \of, o0~
e~ =

pom 3

-~ 0200
_ B3y 3000 “ N

on {LJ/CIO = 27 X Ml

on Otar = 3§\/ [0S DOO 3/:, Pt
/_D

7ok Pw)Lvl’ = _2(,,}30 +- 000 /y)/
- 45, FLV ,3,7
O UMA formnwo T1 2021 14

Mathematics 121/]




image14.jpeg
A soda depot had 30816 sodas which were packed in crates. Each crate contained 24 sodas. The mass of an
¢mpty crate was 2kg and that of a full crate is 12 kg.
a) How many crates were there? (2mks)
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9. The size ol an interior angle of a regular polygon is 4x while its exterior angle is (x -~ 20"), Find the

number of sides of the polypon. (3mks)
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